Rikki-Tikki-Tavi Summative Assessment

Directions: Select the correct answer choice that completes the statement or answers the question.  Write the letter choice on your answer sheet. Please do not write on the test.

1. Which of the following is the main idea of the story?

(A) Teddy receives a pet mongoose for his birthday and they grow up together.

(B) Teddy discovers a garden that his uncle has kept locked up and abandoned for ten years, which has run wild and is choked with dead or dying weeds and grasses.

(C) Rikki-Tikki is a pet mongoose who sleeps all day and plays all night.

(D) The main idea of Rikki-Tikki-Tavi is the conflict between Rikki-Tikki-Tavi himself and the snake Nagaina, and Nag's wife.

2. What is the author’s purpose for writing this piece?

(A) to persuade

(B) to inform

(C) to entertain

3. Which of the following best describes the setting of Rikki-Tikki-Tavi?

(A) a poor part of early Victorian England among deeply religious people in a part of the country far removed from the industrial areas

(B) Segowlee cantonment (British army post); India; during British occupation; Teddy’s family had just moved there; Rikki-Tikki arrived at the house following a flood

(C) on the Oregon trail in the 1800s

(D) in colonial India, to Misselthwaite manor, the Yorkshire home of Teddy’s reclusive uncle, with whom he has been sent to live.  Teddy discovers a garden that his uncle has kept locked up and abandoned for ten years, which has run wild and is choked with dead or dying weeds and grasses.

4. How do the animals in the story best resemble humans?

(A) Rikki is a smart hero and the cobras are villains who are not too smart.

(B) Rikki-Tikki-Tavi does have some symbolism representing humans.

(C) The animals in the story can talk, they have feelings, and they fight for their freedom. Rikki-Tikki-Tavi fought evil so that his family and the garden animals would be safe.

(D) The central animals in "Rikki-Tikki-Tavi" do not adopt many human characteristics, including: human emotions, thought, dialogue, and actions.

5. What is the relationship between Rikki and Teddy and how does their relationship develop?

(A) At first Rikki and Teddy are enemies but come together in mortal combat.

(B) Rikki protects the garden from harm, while Teddy plays in the garden during the day.

(C) Teddy discovers Rikki in the garden, Rikki becomes part of Teddy’s family, and Rikki protects Teddy from being killed by Nag and Nagaina.

(D) Teddy and Rikki are friends in the beginning; however, after Rikki is attacked by a snake, they become bitter enemies.

6. Conflict: What main problem did Rikki-Tikki-Tavi face?

(A) Rikki felt the need to protect the family and the other garden animals from the snakes; Rikki knows he needs to kill Nag and Nagaina.

(B) Rikki’s main problem is to figure out how to get back to his home after the flood.

(C) Rikki-Tikki’s main problem is to save Darzee’s family from being attacked by Kurait.

(D) Rikki must figure out how to get the humans to leave so that the animals in the garden will not be harmed.

Rikki-Tikki Tavi Summative Assessment

Directions: Select the correct answer choice that completes the statement or answers the question.  Write the letter choice on your answer sheet. Please do not write on the test.

7. Drawing Inferences and Conclusions: Which of the following best describes Darzee, the Tailorbird?

(A) happy and sociable

(B) fearful and timid

(C) hopeful and considerate

8. Darzee’s wife and Nagaina are similar because they both

(A take action to protect their families

(B) plot with their husbands to kill Rikki

(C) take action when their husbands fail

(D) worry about the presence of humans in the bungalow

9. Which of the following cause and effect relationships are present in the story?  If Teddy’s father had not used his __________, Rikki-Tikki might have __________.  

(A) wits, laughed

(B) common sense, stayed inside

(C) gun, been killed

(D) gun, given up

Directions: Choose the correct vocabulary word from the WORD BANK below to complete the sentences.  Look for context clues to determine which word would best fit.

WORD BANK

	(A) Draggled
	(B) Flinch
	(C) Mourning
	(D) Consolation
	(E) Cunningly


10. Nagaina went to the rubbish heap by the stables, __________ the loss of her husband Nag.

11. Darzee had to act very __________ to trick Nagaina, the dangerous snake.

12. After the high summer flood washed him out of the burrow, Rikki-Tikki laid in the hot sun on the middle of the garden path, very _____________________ indeed. 

13. Nagaina could find little ______________________________ after the death of Nag, other than the idea of revenge.

14. After fighting with one snake, an unexpected noise in the brush might cause Rikki-Tikki to ___________________. 

15. Analyze: Which of the following events is the climax of the story?

(A) Darzee and his wife tell Rikki that Nag had eaten one of their eggs; Nag and Nagaina try to kill Rikki.

(B) Rikki kills Nag, but knows there is more to do

(C) Nagaina tries to kill the family, but Darzee’s wife warns Rikki

(D) Rikki uses Nagaina’s last egg to distract her.  Nagaina grabs the egg and dives into the rat hole

(E) Rikki bites Nagaina’s tail and follows her into the rat hole and kills her, but all of the garden animals think that Rikki will surely die

16. Evaluate: Which of the following events is the resolution of the story?

(A) Rikki guards the house and discovers Nag and Nagaina are planning to kill the family.

(B) Rikki uses Nagaina’s last egg to distract her.  Nagaina grabs the egg and dives into the rat hole

(C)  Rikki bites Nagaina’s tail and follows her into the rat hole and kills her, but all of the garden animals think that Rikki will surely die

(D) Rikki surprises all of the garden animals by appearing and announcing his victory

Answer Key

Rikki-Tikki-Tavi Summative Assessment

Directions: Select the correct answer choice that completes the statement or answers the question.  Write the letter choice on your answer sheet. Please do not write on the test.

1. Which of the following is the main idea of the story?

(A) Teddy receives a pet mongoose for his birthday and they grow up together.

(B) Teddy discovers a garden that his uncle has kept locked up and abandoned for ten years, which has run wild and is choked with dead or dying weeds and grasses.

(C) Rikki-Tikki is a pet mongoose who sleeps all day and plays all night.

(D) The main idea of Rikki-Tikki-Tavi is the conflict between Rikki-Tikki-Tavi himself and the snake Nagaina, and Nag's wife.

2. What is the author’s purpose for writing this piece?

(A) to persuade

(B) to inform

(C) to entertain

3. Which of the following best describes the setting of Rikki-Tikki-Tavi?

(A) a poor part of early Victorian England among deeply religious people in a part of the country far removed from the industrial areas

(B) Segowlee cantonment (British army post); India; during British occupation; Teddy’s family had just moved there; Rikki-Tikki arrived at the house following a flood

(C) on the Oregon trail in the 1800s

(D) in colonial India, to Misselthwaite manor, the Yorkshire home of Teddy’s reclusive uncle, with whom he has been sent to live.  Teddy discovers a garden that his uncle has kept locked up and abandoned for ten years, which has run wild and is choked with dead or dying weeds and grasses.

4. How do the animals in the story best resemble humans?

(A) Rikki is a smart hero and the cobras are villains who are not too smart.

(B) Rikki-Tikki Tavi does have some symbolism representing humans.

(C) The animals in the story can talk, they have feelings, and they fight for their freedom. Rikki- Tikki-Tavi fought evil so that his family and the garden animals would be safe.

(D) The central animals in "Rikki-Tikki-Tavi" do not adopt many human characteristics, including: human emotions, thought, dialogue, and actions.

5. What is the relationship between Rikki and Teddy and how does their relationship develop?

(A) At first Rikki and Teddy are enemies but come together in mortal combat.

(B) Rikki protects the garden from harm, while Teddy plays in the garden during the day.

(C) Teddy discovers Rikki in the garden, Rikki becomes part of Teddy’s family, and Rikki protects Teddy from being killed by Nag and Nagaina.

(D) Teddy and Rikki are friends in the beginning; however, after Rikki is attacked by a snake, they become bitter enemies.

6. Conflict: What main problem did Rikki-Tikki Tavi face?

(A) Rikki felt the need to protect the family and the other garden animals from the snakes; Rikki knows he needs to kill Nag and Nagaina.
(B) Rikki’s main problem is to figure out how to get back to his home after the flood.

(C) Rikki-Tikki’s main problem is to save Darzee’s family from being attacked by Kurait.

(D) Rikki must figure out how to get the humans to leave so that the animals in the garden will not be harmed.
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7. Drawing Inferences and Conclusions: Which of the following best describes Darzee, the Tailorbird?

(A) happy and sociable

(B) fearful and timid
(C) hopeful and considerate

8. Darzee’s wife and Nagaina are similar because they both

(A) they both take action to protect their families

(B) plot with their husbands to kill Rikki

(C) take action when their husbands fail

(D) worry about the presence of humans in the bungalow

9. Which of the following cause and effect relationships are present in the story?  If Teddy’s father had not used his __________, Rikki-Tikki might have __________.  

(A) wits, laughed

(B) common sense, stayed inside

(C) gun, been killed

(D) gun, given up

Directions: Choose the correct vocabulary word from the WORD BANK below to complete the sentences.  Look for context clues to determine which word would best fit.

WORD BANK

	(A) Draggled
	(B) Flinch
	(C) Mourning
	(D) Consolation
	(E) Cunningly


10. Nagaina went to the rubbish heap by the stables, ____(C)______ the loss of her husband Nag.

11. Darzee had to act very ____(E)______ to trick Nagaina, the dangerous snake.

12. After the high summer flood washed him out of the burrow, Rikki-Tikki. laid in the hot sun on the middle of the garden path, very __________(A)___________ indeed. 

13. Nagaina could find little ____________(D)__________________ after the death of Nag, other than the idea of revenge.

14. After fighting with one snake, an unexpected noise in the brush might cause Rikki-Tikki to ________(B)___________. 

15. Analyze: Which of the following events is the climax of the story?

(A) Darzee and his wife tell Rikki that Nag had eaten one of their eggs; Nag and Nagaina try to kill Rikki.

(B) Rikki kills Nag, but knows there is more to do

(C) Nagaina tries to kill the family, but Darzee’s wife warns Rikki

(D) Rikki uses Nagaina’s last egg to distract her.  Nagaina grabs the egg and dives into the rat hole

(E) Rikki bites Nagaina’s tail and follows her into the rat hole and kills her, but all of the garden animals think that Rikki will surely die.

16. Evaluate: Which of the following events is the resolution of the story?

(A) Rikki guards the house and discovers Nag and Nagaina are planning to kill the family.

(B) Rikki uses Nagaina’s last egg to distract her.  Nagaina grabs the egg and dives into the rat hole.
(C)  Rikki bites Nagaina’s tail and follows her into the rat hole and kills her, but all of the garden animals think that Rikki will surely die.
(D) Rikki surprises all of the garden animals by appearing and announcing his victory.

